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1. 24 H+[0]=H:0(g), AG"=—130165+58.12T . 41 1% 1] Fe-V 4L 7E 1623°C 5

H20(g)5%[f] H,-H,0(g) I8 &M kb T P48, 1A 1 [%0]=0.033, FFHEX e.°=—0.20,

RATE R EER R e HI1E-
2IFEEHFFSE CO N 16% KX, BHEA 126656.25Pa B, KA 7 ERITFFIE
15 B N3 B IR

CaCO,,, = CaO,, +CO, AG°® =170577-144.19T J

3(s)

3. [ SiO: NEERRER, £RNBSRERTSRBSRBT, HIREN[%SI]=20, F
B RZECA £5=0.333. HE SiO: M HEEIRERE .

Bl Si0,,, +2C,, = Si, +2CO  AG® =720594-370.68T J

Si, =[Si] AG® =—131500-17.24T J

M. ZZ&/8 (30 43)
B0 C+MnOs=Mng+CO AG°=294477-174.89T. MnOs KI1E £H 1875°C, #bHA

54292J-mol". MnO& T2 PR EBER, Mwn=54.94, Mp~=55.85. K:

(1)C+(MnO)=[Mn]+CO, Ri+EAG’. (20 5

KRB H [MnO] A MnO AFR#EZS, [Mn]BA 1% Mn NARHEER
(Q)7E 1600°C, FHIHEF amn0=0.2, &BIBEAEF[%Mn]=5, SAHH Po=1atm. FREEHFIL
FEIEEF K Mn0)? (10 43)
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